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INSTRLCTIONS TO CANIDIDATES

You yhiould have the following for this examinoetion;
Answer bookler;
Mathematical tablexiScientific calculator.
Thix paper congintg of ENGHT questions in THREE sections; A, B and €.
Answer FIVE guestions choosing THREE guestions from section A, ONE question from seciion B
arnd ONE guestion from section €.
All quextiony carry egual marks.
Muaximum marks for each part of a question are as shown,
Candidates should answer the questions in English,

This paper consists of 4 printed pages.

Candidates should check the goestion paper to ensare thal all
pages are printed as indicated and no questions are missing.
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SECTION A: CONSTRUCTION MANAGEMENT 1
Answer THREE questions from this section.

L. (1} H;ghl:,gi-.u ﬂdnhum‘ thu Q‘uanm:,r Surveyor during mnﬂnu.:tmn period. {6 marks)
=
by ﬁ"'lj'l Ifla aidl nfﬂ dmgmmexplﬂ.u the various elements in the [:n'm.":&a of
communication. L (10 muarks)
B A fdy —— i i
(& Communication is part and parcel ufﬂir:meraﬂ management funchion, State four
functions of communication, - -~ {4 miarks)

2. (&) (i) Outline four festures of & matrix structure of organization,
(i} State six advintages of matnix structure of organization,

{10y mmarks)
(h)  Explain the iolowing principles of organisation: -
(1)  delégation; El A R
(i}  balance; e e R
(iiy  span of control, gl Frg i TR 2 (6 miirks)
(e} State four functions of control management, . < . & (4 marks)
3. fa)  Explain the provision of the following on a cnnsn'liﬂiuu site;
(1) the contractors site olfices: A . == 4-"' e
(i) site services; - e pass® -
(i) access o the works.. | /@H T y ! {9 murks)
(hy  Differentiate:
() 1 binding contract from other agn_-.mb:nls ;
(i} & voiud and a voidable contract, " (6 muarks)
hi A b bl i bl gk
{) il Dutnh: i joint vemiure.
(i) State two .Luivmtug::ﬂ al a}pml veature. 5 muirks)
‘ )
4. @ St ﬂ:ra; mh'nnta.gn and three dmnd\rmungesul‘:mh of the following:
(i)  open tendering; | s
(it} design and build contract. i d {12 marks)
e
(b)  Outline elght functions of contract documents, - {2 " ST 4B marks)
a PR ; : o t r r
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SECTION B: WORKSHOP TECHNOLOGY ?"‘#:&
LR
Answer ONE guestion from this section, L;‘;':"‘:; L
Explain foar methods used in protection agamst electric shock for workshop equipment.
- h::'j {12 marks)
B PP & :
- LD et AT 3 ket --",.a
Site: P P R WERa
(i Four types of m:.r.aj conduit fittings.” - & ﬁ o “d
(ii}  One are of application for each of the fLﬂInwmg
{1 hlack enamel conduit:
(T silver grey conduit,
(it}  Two advantages of trunking over conduit wiring system, (£ murks)

State four tests that may be performed on a completed electrical instatlation and
e nnem-f.tnnnmlmrcd [urmhm i o I[E marks )

Sketch i | iahuiiﬂ‘l tlié.gmm to shivw how electrical power may be supplied 1o portable

Iools on & construction site. {4 rmarks)
Explain;
(i} why the sive of cable miat be related 1o the circuil over current device,
(i) theneed o sebdivide cirenits even in the smallest installations,
{8 marks)
AECTION C: WATER S5UPPLY
LS
A ] ; Q\J’ lT' &ﬁ
Answer ONE guesiion from thiy seciion. ud._-. %
q.' L'

The cross-section of an open chinnel is a trapeziom with-a bottom width B of 36 m

and side slopes of 1 vertical i 2 horizontal. Assuming that C in the Chezy formuia Is
49, determine the dlﬁ-:hnrgn lftl‘ll: depth of water is 1 2m, and the slope i ofbed iy | in
160K, a"ﬂr"',._ 'ﬁ':'-_[m' {'?mari-._q}
Wader is discharged from a reservoir into the atmosphere through a pipe 39 m long.
There is a sharp cntrance o the pipe and the dismeter is 50 mm for the first 15 m from
the entrance. The mipe then enlarpes suddenly to 75 mm ‘in diameter for the remsinder
ol its length, Taking into account the Toss of head at entry and at the enlargement,
calculate the difference of level between the surface of the reservoir and the pipe exit
which will maintain @ flow of 2.8 Vs Take [=0.0043 for the 50 mm pipe and (.0058

for the 75 mini pipe in the Darey” % formula, Py = ¥ F (8 marks)
State five factors considered when selecting 2 pump. (¥ marks)
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8. (a)  Outline six requiremnents in the installation of standand min gauge. (6 miarks)
(b} Acirculir plate of 1 m diameter i§ immersed in water such that its plane makes an angle
of 307 with the horizontal and its tope edize is 1.5 m below the free water surface.
Deeterming the total pressure acting on the plate and the position of centre of pressure
from the ligoid surface. (3 marks)

{c) Siate Tour reasons for water treatmaent. (4 marks)

(d}  Design a sedimentation tank to treat $.092 million Hitres per day of turbid water.

Assume the following data:

- detention period = 5 hours

. velocity of flow = 15 cavmuntite

- depth of tank = 4 m {5 marks)
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